Hl £ 0 & A & Al A
SN A}
A TZUEY HE L A2 USLESR/E2)

&2l SADIZY &= (chel &2
S - B S2(B) - NISAY - BAS S SR HIDS2
A4t 19,225,132 15,035,404 4,189,728

& 530,000
Al 18,695,132
CZ2NEY B35 L AN (NELER/IEZ) 12,403,978 8,706,793 3,697,185
& 300,000
Al 12,103,978
SAtZS EE 1,656,328 3,565,000 A1,908,672
= 60,000
Al 1,596,328
Helol1BS<is 120,000 150,000 A30,000
& 60,000
Al 60,000
401 A& HIZL0HYI 120,000 150,000 A30,000
= 60,000
Al 60,000
01 A&t 120,000 150,000 A30,000
& 60,000
Al 60,000
204 & 120,000 150,000 A30,000
== 60,000
Al 60,000
ONe0IES 7Y HEIZA 120,000
& 60,000
Al 60,000
AE~BHEAIRIE 2 S TR ZAL 1,485,328 2,210,000 ANT24,672
401 AMEHIZ U] 1,485,328 2,210,000 NT24,672
01 Al&HI 1,480,000 2,202,072 AT722,072
=0 & 1,480,000 2,202,072 NT22,072
OALT~CHARE S 2T E DAL 1,480,000
03 AlES0HLI 5,328 7,928 22,600
S04 & 5,328 7,928 A2,600
OAC~BHCIAIRE S2SZRZ AL AIEE
CHHI 1,480,000,000& +0.36% 5,328
SADIZY 2e|ol S8F FXA 1,000 0 1,000
203 R F=&d| 1,000 0 1,000
03 Al FRIHRFAIY| 1,000 0 1,000
=04 & 1,000 0 1,000
OAHLEZ0F Al F2 1,000
sE~S22t 2 EUNRAEZ AINMEIY A ZAIES 50,000 0 50,000
401 Al HIZ 2CHYI 50,000 0 50,000
01 A&t 50,000 0 50,000
S0i & 50,000 0 50,000
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S AL
M CRUSY HE U SNTU(REYSR/ER)
Sl 222 J|BRE (Gt &
SA - EH - CR(B) - NRAY - BaS S SR RS2
| OEZg ¥ Xaixc ®J123 144,000
401 AIEHIL 20| 1,103,600 802,160 301,440
01 Al&HI 1,100,000 800,000 300,000
=0 A 1,100,000 800,000 300,000
Oug 2 gHY dUddsY 300,000
Onz 2 HY SANE+-3A 500,000
OELn ITEXISAt 300,000
03 AI&E208I 3,600 2,160 1,440
=0 A 3,600 2,160 1,440
Ony L HY SRNE=SA AIER0HY]
500,000,000& *0.72% 3,600
2 B g2 1,615,796 352,520 1,263,276
401 AIEHIL 20| 1,615,796 352,520 1,263,276
01 Al&H| 1,610,000 350,000 1,260,000
=0 A 1,610,000 350,000 1,260,000
OB T HHIS AL 1,610,000
03 A&t 5,796 2,520 3,276
204 & 5,796 2,520 3,276
OB S HHIS A AIE20HYI
1,610,000,000& *0. 36% 5,796
ANEXRE E2RX B4 1,956,120 704,410 1,251,710
= 100,000
Al 1,856,120
401 AIEHIZLS0UIYI 1,956, 120 704,410 1,251,710
& 100,000
Al 1,856,120
01 AI&HI 1,950,000 700,000 1,250,000
== 100,000
Al 1,850,000
=0 A 1,950,000 700,000 1,250,000
= 100,000
Al 1,850,000
O ZEZXHFH|SAL 1,700,000
OFE=3HX K=z HHISA 200,000
= 100,000
Al 100,000
OHIZ uxtz WwEMAH MEsH 50,000
03 A& 208 6,120 4,410 1,710
=0 A 6,120 4,410 1,710
OE2ZEFHIS AL AIE20H8|
1,700,000,000& *0. 36% 6,120
253156 =2 F| 1,383,960 302,160 1,081,800
& 140,000
Al 1,243,960




=N

Far=;

DM CRRSY uE Y SNB(DELER/CS)
S S22 J|BRS (Gt &
S - BB BR(31) - NSAY - BES S SR b=
401 AlEHIZL S0 1,383,960 302,160 1,081,800
= 140,000
Al 1,243,960
01 AlI&HI 1,380,000 300,000 1,080,000
= 140,000
Al 1,240,000
20 & 1,380,000 300,000 1,080,000
& 140,000
Al 1,240,000
O=2E3158 T2 FHISAH 1,100,000
Ozlduxtzg XA 280,000
= 140,000
Al 140,000
03 Al 2CHYI 3,960 2,160 1,800
S0 &t 3,960 2,160 1,800
O=E31sd T2 JH|ISAF A& 20|
1,100,000,000& *0. 36% 3,960
=53HhSH T2 FH| 704,410 201,440 502,970
401 AIEHIZLS20UIYI 704,410 201,440 502,970
01 AI&HI 700,000 200,000 500,000
S0/ & 700,000 200,000 500,000
O=E3hsd = HH|ISAE 700,000
03 A28l 4,410 1,440 2,970
S0 &t 4,410 1,440 2,970
O=EHhSH T=HHISAF ALY
700,000,000& *0.63% 4,410
=535 T2 FH| 1,304,680 302,160 1,002,520
401 AIEHIZL 20 1,304,680 302,160 1,002,520
01 AlI&HI 1,300,000 300,000 1,000,000
S0 & 1,300,000 300,000 1,000,000
O=2E3BSH = HH|ISAL 1,300,000
03 A28 4,680 2,160 2,520
S0 &t 4,680 2,160 2,520
O=ERSH T HH|ISAF ALY
1,300,000,000& *0. 36% 4,680
= 3N &8 T2HHISAF 2l 44,950 0 44,950
401 AIEHIZL S0 44,950 0 44,950
02 Z2ldl 44,950 0 44,950
20 & 44,950 0 44,950
O=% 3 & T2 FHHISAF 22l
3,100,000,000& *1.45% 44,950
SAICHE AR 5,000 5,000 0
203 ERF&d| 5,000 5,000 0
03 AIMF=RIH R F=&IH| 5,000 5,000 0
20 & 5,000 5,000 0
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SM: AL
HM: RISy HE U R
o
[}

o9l TRAE ST (e e
S - BB BR(31) - NSAY - BES S SR RS2
R ERCEE N T
Mz 20,000
401 AIEBILL204H| 40,000 100,000 260,000
01 Al&H| 40,000 100,000 60,000
=0 A 40,000 100,000 260,000
Oz 0|3E A4 & Hb| 20,000
=23 22 B UMD 20,000
MAECH =& 1,216,978 1,210,499 6,479
101 @I24H| 51,234 50,527 707
M JIZtH22XsE+ 51,234 50,527 707
=0 A 51,234 50,527 707
OREXY SHY LA ol 51,234
oJ=a 84, 160214323 1082 27,268
oFzsaY 84,1603 x3H x21 5,303
oE XY 84,160 x3Z x5! 1,263
ST 5,0002x32*108L 1,620
ocxq2DLY
10,520 & x200%*250 A| 2H+3H 15,780
201 et2AH| 554,688 640,000 N\85,312
01 At=222teltl 420,000 520,000 100,000
=0 A 420,000 520,000 /100,000
ORERY 2H 420,000
02 S32g4| 134,688 120,000 14,688
=0 A 134,688 120,000 14,688
ONEXE 724| 100,000
ON&xI2 fxI2e) 20,000
ONELLEMET S422
33,000& 8 A x 122 3,168
ONEALEAMET FHIIQ2
120,000+ A% 128 11,520
202 04| 1,056 972 84
01 =LHOH] 1,056 972 84
S0 A 1,056 972 84
OREYe =7 88,0002 42263 1,066
206 M=4| 580,000 489,000 91,000
01 M=l 580,000 489,000 91,000
S0 A 580,000 489,000 91,000
OHETH(AZ S) 7Y 550,000
OBTHAE 2 JIERIT 7 30,000
401 AIEHIZL 20| 30,000 30,000
01 AI&HI 30,000 30,000
=0 A 30,000 30,000
ORI &) 24 (15CH) 30,000
I=X22ds 29 4,788 5,260 N4T2
201 Et2AH| 4,788 5,260 NAT2




A A4

M CENSY 5 g

S (RELER/ER)

2z g
Cigl: CERAM JlsAsl (el me
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
01 AtR2teld| 4,788 5,260 N4T2
S0 A 4,788 5,260 NAT2
OJI=sX2S/AJS Eae
70,000 x*9H x4 3| 2,520
OJI=X2/33 EA0]
63,000 *9H x4 3| 2,268
TADIZYEE SEHHH 2,000 2,000 0
203 HR=AH| 2,000 2,000 0
03 AIHF=RIAR =AY 2,000 2,000 0
=20 Al 2,000 2,000 0
OZ A ZYEE SEUHHFX 2,000
CZOHMAILD PAS 62,000 30,000 32,000
201 B2 AY| 57,000 0 57,000
2 B232g| 57,000 0 57,000
S0 A 57,000 0 57,000
O Z o aZ2 HISIH] 57,000
305 tlal=2s 5,000 30,000 A25,000
01 HiMd=S 5,000 30,000 A25,000
S0 A 5,000 30,000 A25,000
OE 2R I2E2
100,000 %5024 () 5,000
CEEHQ AISXIEA 201,356 201,272 84
201 LBt AY| 300 300
01 AF222telb] 300 300
=20 A 300 300
OEZHAAMKSX S 300
202 04| 1,056 9gr2 84
01 2yl 1,056 972 84
=20 A 1,056 9gr2 84
BAEO HR2FA 83,000 x2 X *x63| 1,056
401 Al&HILL0HY| 200,000 200,000
01 Al&HI 200,000 200,000
=0 A 200,000 200,000
S22 AIRAEA 200,000
SEXE MAD|E Ao s/ s - &) 2,470,080 1,742,660 727,420
& 230,000
Al 2,240,080
S8 =4 2,470,080 1,742,660 727,420
& 230,000
Al 2,240,080
EI|BAIE RAE L 805,040 402,880 402,160
401 Al EHILE20H] 805,040 402,880 402,160
01 Al 800,000 400,000 400,000
=20 A 800,000 400,000 400,000




‘Z'/\—I j-l/\-iJ_]_I.
_l_ =
BE: SEXS MAD|E ASH(SEHY A/ 5L - 5E)

o R e o o [=R=] /S

ool =elet x4 LR
S - BB BR(31) - NSAY - BES S SR b=
OEI|BHAIE HEIZAL 800,000
03 Al =CHYI 5,040 2,880 2,160
20 & 5,040 2,880 2,160
OZIIBAIE HHIBA AL
800,000,000& *0.63% 5,040
SEXNE ARE FOImJAIS 200,000 100,900 99,100
401 AIEHIL 20| 200,000 100,900 99,100
01 Al&HI 200,000 100,000 100,000
=0 A 200,000 100,000 100,000
OsXS A8 FRU=JAY 200,000
SESEH 1,265,040 402,830 862,160
& 230,000
Al 1,035,040
401 AEHIZL 0L 1,265,040 402,830 862,160
& 230,000
Al 1,035,040
01 Al&H| 1,260,000 400,000 860,000
= 230,000
Al 1,030,000
S0 & 1,260,000 400,000 860,000
& 230,000
Al 1,030,000
OsZEE AL 800,000
Otlrs SZEESA 460,000
= 230,000
Al 230,000
03 A28 5,040 2,830 2,160
S0j &t 5,040 2,880 2,160
OsZEESAF AIE 20|
800,000,000& *0.63% 5,040
SHUOHEl E=INE ALY 200,000 50,000 150,000
401 AlEHIZL S0 200,000 50,000 150,000
01 Al&H| 200,000 50,000 150,000
S0 &t 200,000 50,000 150,000
O2EZH L =83 4XI3At 200,000
FOISHY WO (BB ZEHE /UBHE) 272,856 272,772 84
OIAMHA A H|A EFAF 272,856 272,772 84
MERIRD|SH2lE 29 72,856 72,772 84
201 et Y| 1,800 1,800
02 =323l 1,800 1,800
=0 A 1,800 1,800
OuaIg)|sHele 24 1,800
oMEDIAI|ISHel EHlmXl2el 1,500
oEZ2E+Z0ED| HAEH| 300




SA: HAD
mH FOINN MO TR (UNBRUN /Y HE)
Chel: QIRSEAYIA BHA (cr9l: &g
S - BB BR(31) - NSAY - BES S SR b=
202 04| 1,056 972 84
01 =LHO4b] 1,056 972 84
S0 &t 1,056 972 84
OMEBIRD | sHel 88,0003 x2H *63] 1,066
206 M ZH| 20,000 20,000
01 M=l 20,000 20,000
S0 &t 20,000 20,000
OMEBIRD|ISKel e+ 20,000
401 AIEHIZL 0] 50,000 50,000 0
01 Al&H 50,000 50,000 0
S0 &t 50,000 50,000 0
OAISIZ2HEHHIZH A ALY 50,000
MEOIRE A2 AIS 200,000 200,000 0
401 AIEHIL 20| 200,000 200,000 0
01 Al&H| 200,000 200,000 0
=0 A 200,000 200,000 0
OMEDIAHE| A2 ALY
200,000,000 200,000
OIHKIEE TADHE(2EL RGN /XHL Al 901,298 958, 145 N56,847
SAZE X4 901,298 958,145 56,847
lg2(8eh)s dxiael 901,298 958,145 A56,847
201 et23AH| 258,513 323,609 65,096
02 3323l 258,513 323,609 65,006
=0 A 258,513 323,609 65,096
OJt2(BohHE &IIe2 253,233
oJl2s 37 .53 *2, 83855+ 1200 12& 155,790
oBotE 37 .53 3,609 +600x 12 97,443
ORIZANHN RHSERS
2,000 x2200H A * 12 5,280
401 AlEHIL 0] 642,785 634,536 8,249
01 Al&H| 638,760 630,000 8,760
=0 A 638,760 630,000 8,760
OJtz2s Al AXSA
2,700,000&*80S 216,000
OJ2(BohHE |SAB4=HI(SHIIAHISE 30H
S 2E) 260,000& *1,000S 260,000
OJNZ(BEoHE 272 RANE2HI(01&
L EHH, =EAEE) 313,800&*200S 62,760
O ER wet J2XH AXI3A 100,000
03 A&t 4,025 4,536 VANIR
204 & 4,025 4,536 2511
OJ2(EohHE AR&xl ¥ X2 2
Chbl 638,760,000& *0.63% 4,025
TADIE2Y & TADHE(SEL RGN /RSL Al 3,117,060 2,553,180 563,880
SAHEEZ H- 3,117,060 2,553,180 563,880




2N A D
B SADIEY Y SAIHL(FELXANL/NHLEAD

ol CANEEE e (e e
S - BB BR(31) - NSAY - BES S SR b=
SAHEEZ i HRE=X 1,760 1,620 140
202 O4H| 1,760 1,620 140
01 =LH4b] 1,760 1,620 140
20{ & 1,760 1,620 140
OAANHES Ha ezw
88,0003 *2Z*102] 1,760
SADIZ2Y QIRGHAANS 201,440 100,900 100,540
401 A& BIZL2CHYI 201,440 100,900 100,540
01 A&l 200,000 100,000 100,000
20/ & 200,000 100,000 100,000
OEAl 29U AL DIAAE 200,000
03 A28 1,440 900 540
20i & 1,440 900 540
OSAl el AR2 BIA A&
a] 200,000,000& *0.72% 1,440
ENHQ T AE~E X 3|2 2 IHE S AL 603,780 0 603,780
401 A& BIZL2CHYI 603,780 0 603,780
01 A&l 600,000 0 600,000
20/ & 600,000 0 600,000
OHH LI A8~ X W32t SZ2IHEZA 600,000
03 AIZ =01 3,780 0 3,780
=04 & 3,780 0 3,780
OHY QU AE~2 T 132t T2IHE S
A AIE 201 600,000,000& *0.63% 3,780
MNEHZ~AE 22 S2IHE S AL 100,000 0 100,000
401 AlEBIZL2CHYI 100,000 0 100,000
01 A&l 100,000 0 100,000
20i & 100,000 0 100,000
OMSHZ~MSt22F SZIHE S AL 100,000
SdZ~FUEZ| A2t T2IE SAt 1,505,400 0 1,505,400
401 AlZ2BIZLS2CHYI 1,505,400 0 1,505,400
01 A&t 1,500,000 0 1,500,000
20i & 1,500,000 0 1,500,000
OSL2~FEI3| |42 T2 ZAL 1,500,000
03 AIE =04 5,400 0 5,400
S04 & 5,400 0 5,400
OSLZ2~FHEZ| A2 TZ2IHE S AL Al
S20HEI A 1,500,000,000& +0.36% 5,400
SHit2 JYTE MWESAL 603,780 201,440 402,340
401 AMEHIZ U] 603,780 201,440 402,340
01 A&t 600,000 200,000 400,000
=0l & 600,000 200,000 400,000
OBi0lE SAHEEE HETAI 600,000
03 AlES0HLI 3,780 1,440 2,340




A4
CSADIZY & SADHE(RE

D EAIHEEZ -

ENE:P = PN

9

SAl

il

SR
S - BB BR(31) - NSAY - BES S S =2
S0 & 3,780 1,440 2,340
O& 02 TAIHEC=Z NESA AIER
Chbl 600,000,000 *0.63% 3,780
Slielzs TAIHEETZ HESAL 100,900 50,000 50,900
401 AIEHIZL 20| 100,900 50,000 50,900
01 AI&HI 100,000 50,000 50,000
=0 & 100,000 50,000 50,000
Of0elZ SAIHEEZ e AAIEA
L TAIZZHE 8 S 100,000
03 A&t 00 00
S04 & 900 900
O==C2lZ TAHEEZ HEAIY AlE
LY 100,000,000 *0.90% 900
WY 2AGHI (AL D) (IIEHIIE 59,860 801,854 AT41,994
[2Zl 59,860 60,692 A832
J|=2Z&| 59,860 60,692 A832
201 Et2AH| 41,040 42,512 AN1,472
01 AtR2telt| 38,040 39,512 N1,472
20i & 38,040 39,512 AN1,472
OFAM2Z JI=23| 240,000 = 12& 2,880
OMIREE P (SAHKI S)
300,000 12 3,600
O#EEAMRID| Ltz
220,000& x1CH*12& 2,640
O#EAEANRID| ARE 22
280,000 =8 CH*32] 6,720
Odena)l axa 55,0002 <304+ 122 1,960
Ozt 8, 0002 %342 521 122 16,320
Ozzzeld Ii=y) 150, 0002110 23| 3,000
OMERIIISHRIE TI=H|
150,000& *3H *23] 00
02 3323l 3,000 3,000
S0j &t 3,000 3,000
OoRERI 250,000 12 3,000
202 O4H| 7,720 8,200 AN480
01 =LHO4L] 1,600 2,080 A480
S0j &t 1,600 2,080 A480
OblaZ22 20l 20,0002 x20H 43| 1,600
02 Yl 6,120 6,120
=0 A 6,120 6,120
OL& L NS M|
170,000 *3H 12 6,120
203 RF=&H| 11,100 9,980 1,120
01 J|2A2IH2FAY| 7,500 5,000 2,500
S0 &t 7,500 5,000 2,500
OEACHE=E 7,500
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A 1,380
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4,980
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